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 OPTION -A -

Paper : BOT—HG—4016/BOT—-RC—4016

(Plant Anatomy and Embryology )

Answer very brleﬂy' ;~(any seven)

%@aﬁm:.(ﬁmm#r-ﬁr)

'(a) What type of endosperm is found in

rice ?
W%«%mcmwmmm 2

(b) Where form the embryo gets 1ts
*nutrition ?

e ?ﬁ%as’awm ?

(c) What are secretory tissues -?

PRI FAEE F 2
(d) What type of fruits do not bear seeds ?
ﬁw‘wmﬁﬁ@mma@mv

() Who proposeq

‘h .
explain shoot op IStogen theory to

tical organisation ?

PIT M2l o197 1R 2 P e we’

ignificance of ca
, mb ?
. R © 'TQ"RF & o am
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_1><7=7

(9)

Write the name of tissue that helps |
hydrophytes to remain ﬂoating ? ’

TS GG @Hﬁaw%mﬁm e

e AT 2

(h)

0)

Write briefly : (any four)

What is quiescent centro ?

Rt o & 2

"In which tissue stomata are located ?

SNTRF (PR TS (AR A 2
What is tapetum ?

Grolow & 2

| Ox4=8 .

e i ¢ (Rewiear sifas)

(@)

. (b) -

(c)
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Polyembryony
Eeo N

Dduble fertilization
B-Rraes
Hydathodes

o>
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(b) Write bneﬂy on heart wood and sap.

' (d) Annual rings : N wood.
o , A wﬁww@w@wmﬁw
o - | L . ' : (c). Describe cellular endosperm - W1th ‘neat
(e} . Casparian strip .~ . . , - p diagram. -
A ~ Wf&wmﬁﬂmﬂmawwl

(d) Write ‘the difference between -

() True and false fruits’ mer1stematlc tissue and permanent

(). ‘P.hyllloclade | | Sl ?Fﬁ\‘ e 2R 35?1!3 ﬂIGQ 9H2]/?FS e
' .W asf\,cs - , . (e) Wnte the d1fference between apomuus
. . : - and parthenocarpy.
() Heterofertilization | - - @orfifarg o SRS TR e 9!7@ e
L () Write on m1crosporogene51s and
, . _ rmcrogarnetogenesm A '
3. Answer any three of the follow1no ! -‘{ STYE T G IS ﬁﬂm ﬁl‘iﬂl )
| | (g) Write on cork camblum and vascular |
e %@W W ﬁ@?ﬁ)‘ ﬁ%ﬁ%@a SXB 150 . cambium. , |
(@) What is self-polli | % R e R (@RanR e B
-pollination 2 vwr.: , -
about the on = Write briefly (h) Write the tissues responsible for
dlSadvanta advantages ~ and | ’ providing mechanical strength
S 8es of self—polhnatlon o : (support) in the higher plants. ‘
- o o
%rﬁm, R ’W-Wﬂmﬁa%wt%-:w THIN T n@ﬁzrxr%awﬁlm
‘“Cﬂmﬁm - R B
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Answer any thfee of the folloWing :

m ‘d'etail ‘the .
development . of V'tet
.female gametophyte,

W%mmﬁsv

structure

SR botimy = Sl
_ m%ﬁﬁil%%' T . R
(b). What |

(e

do you me | : ‘
theor an by tunlca-corpus :

"fﬁmmﬁg% 2810
R
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metogenesis ? Describe |
and |
rasporic mature

ST Fill Rewrcat R v frar s

(d) What is ‘apical meristem ? Describe

(9)
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various theories regarding structure,
growth and development of root apex
of flowering plants. 2+8=10 -
weE oEe T2 AT Sfewd TR
SETSls 5197, 3% Ok R To{CF SeRToRI
TeImeE e |
What is cross-pollination ? What are
various forms of it ? Describe each of
them briefly with examples. , )
: 2+2+6=10
Tox w2 2R R o Q1 ipeg.
& ?mmmmmmmw*
What are the components of vascular

elements ? Describe any one

component of vascular elements.
2+8=10

i TAMTR TAREE & ¢ AQw
TR R Af ToieaR 9 = |
What is meristematic tissue ? Hdw are

they classified ? Write briefly about
‘them. . - 2+2+6=10

SEF I & 2 R NRkerm @EE /i
7 7 Aord [ SN feral |
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h neat dlagramS

’iﬁfﬁﬂﬁw
0t )
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OPTION - B |
Paper : BOT-HG-4026

( Economic Botany and Plant -
Biotechnology,) '

1. . Answer the- following . (any sevén} e

1x7=7
| WWWW (ﬁmarwr-?f)

(@ Who first proposed the concept of -
centre of origin ? - .

%qvf%a R TR ARl Jﬂm I
- SiISRGIEE 2

(b) What is the scientific name of |
. soybean?
SRR et a2

- () Storage tissue of leoummous seed is

known as

NGRS TE NG

JF|

(d) Gram belongs to which family ?

AR (P (SR Sasfe 2
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~ (e)  Which part of the black pepper plant is - (b Economic uses of gram
edible ? . PR TS IR
o . ' R
RN, W CRIICDY S (IR Goget 2 - ~(¢) Embryo culture
' ZeoiF

0] erte the full form of RAPD. :
\RAPD 5yl [T By | (d) Recombinant DNA technology

DNA j7efon SRt (et

(9) .What is androgenesis ?

oG =T g N 4 S (e) Reverse transcriptase
(h) What iIS .micropropagation ,) : ﬁ \94“‘.’ <r T
THRYN fF 9 ' 4' () Morphology of cotton plant
. T TR IR
i ‘o
) \];]hat IS/ DNA marker ? » , (g) Gene therapy
NA IFi5 & » | | . fom e
: | ' .
»(J) What is hvbrldoma technology 2 ! (h) Down syndrome
. 1
RRET g 7 ] TIew Hag™
2. Write briefly . R ' - . 3. Write short notes on the fdllowinc : {any
) Y on the following . (any four) three) ' 5x3=15
O T R T 2x4=8 |- MRS ﬁ‘“ (RiereAl
- RS Y fyayp ¢ foieb1)
(a) Chem1ca1 ‘Constituent of soyb e orphology of wheat
oybean R Swife s SR
bR RlkIkIE ‘>T§)?J
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- (b} Chemical constituents and economic ..

_uses of groundnuyt
' R 3 iiiias 1o R Wﬁﬂf‘\?r I

(c) Morphology and uses of black pepper
TR Wa?rﬁa?r IR IR

» (@ Processmg of tea

Wﬁf@mq o

{e) Scope of.. bxotechnology

SRR ‘Tﬁvﬁ

[ij] Apphcatlon of embryo .cullt
ure
%W‘N Acra

(g DNA ﬁngerpmntmg
DNA f*“\‘»‘fwraﬁ

(h) ELISA teChleUe

ELISA ?iﬁn
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4.

Answer any three of the followmg
10x3=30

WW ﬁmmf*ﬁmwaﬁm

(a) What is meant by centre of origin ?
Write in detail Vavilov’s centre of origin

of cultivated plants. s o

- Bt ErEm T 3@ ? SifkeTes R -
g %eoff%a @I ﬂ‘“?l’?ﬁﬂ O fpom et

i

. (b) What are legumes ? Write a general
- account of legumes with spec1al
reference to gram and soybean.

. TRRESR 9 B 2 U WR vaRee Koo
E“@Wwaﬁﬁﬂwﬁﬁwml '

(c) Write the scientific names, families,
parts used and uses of the following-:
(i) Clone '
(u) Cotton :
TS W twtﬁzf T, (o, IR
'(i) R
(@) TR
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(@)

(9)

_

Describe in.vitro pathways of
androgenesis.

qﬂﬁvvikwﬁ%aaﬁ?n9ﬁﬁ%ﬁg§zwﬁnzﬁwr

What is gel eleétrophore'sis ? Describe
the  techniquesg of

southern and
northern blotting, '

are  the

5 , T€Quirementg of PCR
technique »

iqu Write about the
application of PCR. ' 14247=10

jgf;%@mwmm » PCR
o ? PCR ¥
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‘ . ) . * . NA
(h) Describe the steps involved in D

q h

EPE
DNA f53@Ress afee @R I 7
DNA ’r?r{zziﬁe@ AT @sTs Gfb (Bt Fan |
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